Mixed Operations with Brackets

Name: Class:

70

Calculate each of the following

18 x (180 - 120) =

(166 -122) x 14 = (456 -322) x 21 =
7,440 + (31 + 62) = 1,763 + (16 + 25) =
(829 +499) = 16 = (512 +388) + 12 =
22 x (345 - 189) = 13 x (400 - 187) =
(666 -333)x 17 = (197 -148) x 66 =
3,551 + (26 +27) = 3,584 =+ (31 +25) =
(900 + 625) + 25 = (346 + 704) + 14 =
(248 -154) x 63 = (742 -292) x 15 =
2,640 + (15 + 65) = 3,536 + (18 + 34) =
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Answers

Calculate each of the following

18 x (180 - 120) = 1,080

(166-122)x 14 = 616
7440+ (31+62)= 80
(829 +499) + 16 = 83

22 x(345-189) = 3,432

(666 -333)x 17 = 5,661
3,551 = (26 +27)= 67
(900 + 625)+25 = 61
(248 -154)x 63 = 5,922
2,640 = (15+65)= 33
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(456 -322)x 21 = 23814
1,763 + (16 +25)= 43
(512+388)+12 = 75

13 x(400-187) = 2,769

(197 -148) x 66 = 3,234
3,584+ (31+25)= 64
(346 +704)+ 14 = 75
(742 -292)x 15 = 6,750
3,536+ (18 +34)= 68
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